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1 AR $£HR 4 REHKRT 33 39 72
2 NE B 4 KIRF AT 33 40 73
3 R OBHR 2 KRF AT 36 38 74
4 - 2 B R RS 38 37 75
4 wE T 4 KFRIAF 35 40 75
4 WAREY [5E 3 EalipNea 37 38 75
7 WE =EET 3 SRR 37 39 76
7 e 3 KIRFBEAS 38 38 76
7 R B4 3 KIRFFRKF 38 38 76
7 W #ATE 2 plin =2l 36 40 76
11 A T 2 BRI RS 37 41 78
11 R 2 e 39 39 78
11 =R 4 KIRFBEAT 38 40 78
14 Z RS 3 KFRIAF 39 40 79
14 thi BE 2 A 35 44 79
14 SN 3 RELART 40 39 79
17 L FE 3 AERTRT 40 40 80
17 KA HhETF 2 KIRF AT 40 40 80
19 S 4 AFRART 41 40 81
19 A = 3 A 38 43 81
19 BR & 3 FBRE AT 40 41 81
19 HE  =A6 2 KIRFFRAF 40 41 81
19 =f A= 2 KIRFFEAF 41 40 81
24 HE BA 4 AEREEKRF 41 41 82
24 =g BR 4 EEHKRT 39 43 82
24 wWH Eh 4 NS E TN 39 43 82
24 EENERED 2 KERZRAS 39 43 82
28 7R HE 3 AERF R A S 43 40 83
28 5B EF 4 KIRFBEAT 46 37 83
28 =8 TE 4 BIFEF T RS 40 43 83
28 IR STELT 2 ESAd AT 43 40 83
28 Hif 55 2 BT 38 45 83
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33 LN IE LS 3 NS E TN 41 43 84
33 E &I 2 A 43 41 84
33 EIIRE 2 R 41 43 84
33 I BT 2 KIRFBEAT 41 43 84
33 PH H4E 2 KIRFFEAF 42 42 84
33 HO E# 2 AFRIART 40 44 84
33 BE LE 2 KFRIRFE 39 45 84
40 BA BT 4 KIRFBEAT 41 44 85
40 KB LD 3 plin- =2l 43 42 85
40 BH = 2 SRS 41 44 85
40 APE  EK 3 JLBRF A 39 46 85
44 IR OEE 3 KFRIAF 40 46 86
44 BEE Xt 2 Al N 39 47 86
44 R ELE 4 AFRIART 42 44 86
47 = 3 A AT 44 43 87
48 T B 4 KFRIAF 40 49 89
49 Kk BE 3 T EERS 46 44 90
50 Al KB 4 RELT 43 48 91
51 Cr 2 KT 48 45 93
52 FIl fwi 2 B AT 45 49 94
52 BO O XI 3 KIREEKRS 47 47 94
54 NAIE  oE 2 FUBRIP AT 46 54 100
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